B9a0000L 360(3035¢00FJBHOL Lemg. 35030l 4oHIMTMSY)dS

N4, N6 J9p93bg o5 N4 JmBob I 9gLobgnzBg 299s535¢00 bsd. {6930l oBLogbo

bLosdygdosmoms

deo3gg@eedd

N Lodgdoml slobgangds 3ob%. | @ome. 3oobasM0dgds
1 [sugoa@ol Loggsmol sgds s s0©agbs & 27 54x0.5=27
2 |3®sbdgol sdmmbds Il 3o@d. aGbddo 39]560bdgdom 9 1557 2505x1.2x0.5=1557
3 |3®obdgol sdmmbds Il 3o@d. aG9bddo byemom asbliswgbols
3obdBmgdobsmgols s dofoliggds 3mdgbogsiogdols Rx 157 262x1.2x0.5=157
350533gm0liols
4 |3®obdgols dodmols dmlfmagds bgmom 9 1298 2595x0.5=1298
5 |3®obdgol dJodmbg Jgodol Loggydganols dmfymods . B
3oblowgbolsmgol 0.13-0L (‘dgdmbowgs 32 30-©sb) 8 143 2857x0.1x0.5=143
6 |3b> HHobTgodo 3maogmoggbols Joangbols hogmopgds @ 905 d=90
dobo 2odm@EEs 2®d/d 1720 d=40
390 d=20
7 |B®sbdgol ggLgds bgemom dognols dgosdo@oesb 0.23-0l (905X0.290X0.5)-(0.905x6.4)=131-6=125
Lods@angdog Jgodom, dolo msbposmsbmbdomn @@ 9360m. 9° 357 (1720%0.240x0.5)-(1.720x1.3)=206-2=204
Jgodols bowgols dsbdognos 3233. (257x0.220x0.5)-(0.257%0.3)=28
8 |3maogmogngbols dJognols 303560dbgdgemo agb@ols howgds v
B®sbTdgodo 023 Lodswergby dowol Bgs30Gowsb o 2595
9 |@®obdgols dggbgos sdmmbBogno @dogno a®ybBom . _ ~
39J560bdgd00 dolio mebomsb ©o@ 3933600 9 904 (1714-(802+8)=1714-810=004
10 [bgdols dogsligols dgdmbopgs 32 33 dobdognosb ©s hoyds
B®s6dgodo 023 Lodswargbg 9d560bdgdom dobo msbpsmsb RE 298 54x0.66x0.5=18
o8 39356000 2803x0.2x0.5=280
11 |@mOEol d9dmbogs 3230 356d0osb Bogto GH®Msbdgsdo 0,150 s B
Lods0wgby 997s60BIId0m Fobo MBI 33933600 8 4 54x0.15x0.5=4
12 [sdmonb@ogoo bgodg@o gdgbdol ao@sbs 533 dobdoanby 9 810
13 [mos@ aodsgomo a5blomgbgdols dgmgdgs ggomgwo gg@ob 5 B B
bsGobbosbo bgmmgobo Lomgdsgom 2-x 9@ 9 2 d=80 - 7x0.28=2
14 |@oo 2535350 aoblogbol dmb@sgo s dobo godmzws 2®d/d 7 d=80
15 |bs3mbGHMMEm Jowby 3m3zgMol dmfymds 50 1
16 [gmmoseols ao®idol dogols dmb@sgo 1/10, d=150
@a®dad | 1/5, 2/1 .
1/15, 2/5 d=200
17 (o330l dognols bo@dsgnyy@o obmasEos s dmamgdols 26d/3 17 d=150
sdmmargs wogmgd@@oggmo dsbogom 25 d=200
G 7
18 [odmIdmggero dygdmgemgsbo mbgsbol @soygbgds Fodo G 1 d=90
19 [30@s300g00L a0dgdgds v Lboggdom G 1
20 [396380L ool dmbEsgo Fob 39@Eadol g5ws339005%] 3/a®dd | 2/0.2 d=200
21 3oL 390wgd0L Fo339moBY FMEIoL ool bm®Iserw®o
0bMEsE0s s dobo dMEMadoL sFmdmegs OIWYJEHMmO3IO o6/ 0.4 d=200
Joboeroom G 2
22 [159. {bg30L 30§ obggDs goblowgbdy 956TBHMgdolL dmfymds G 37 d=20
23 |bo5g¢m0mdoem b0l g5@a33900s FodMMO30L dgmmpom d=20003 50y d=20000 L=159
24 1155533M0mMdOmM 3Bob 45533907 3dd)MHM30L dgmmpom d=10039 5009 1 d=10000 L=100
‘dgopy0bs G- 9sboMsdg




